Jdn, do [GeV]}

sum
T

{(1/Nevents) d p

Ratio to CDF

=
e¢)

=
o))

=
IN

=
N

=

0.8

0.6

0.4

0.2

0.5

1960 GeV ppbar

Underlymg Event

— L B R B B [ H
— Average Z(p.) vs p'fad (p, > 0.5 GeV, h < 0.8) ]
. m  CDF ]
[ --0-- Herwig++ 2.5.1 default ]
— --3-- Herwig 7.2.1 default i
H u _
- m N " _ ]
- u - 5o IO - ! —
‘ 555'5',’5 B @ EF | =
- 5 0 e T g —
SR G - -
— 1 | —_—
- - ! . ! ]
L ays 1 i -
| ’@' \\' —
- o & -
— @ \ ]
— i 7
Ly | | | | | | | |, | | o Ly L
: T T T T | T T T T | T T T | T T T |:
_. .E‘E‘E‘EEE‘ L e ! _
L o C> %‘\E::HT/’E_&‘\ “-\\ < —
B QGQQO@ & 7 N\*é A 5 N
| E . E;] —
" 1 1 1 1 | 1 1 1 1 | " 1 1 Ju- 1 \l\\\ 1 : 1 1 " |
0 5 10 15 20

(P [GeV])

Rivet 3.1.10, = 500k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


